The lion
Answer:

C1

its prey in the African savannah.

The eagle
Answer:

high in the sky.

The turtle
Answer:

its eggs on the beach.

The cheetah
Answer:

incredibly fast.

The kangaroo
Answer:

with its powerful hind legs.

The whale
Answer:

in the ocean.

The snake
Answer:

its prey with its venomous bite.

The monkey
Answer:

from branch to branch.

The koala
Answer:

on eucalyptus leaves.

The crocodile
Answer:

quietly in the water.




Answers

The lion its prey in the African savannabh.

Answer: will hunt

The eagle high in the sky.
Answer: will soar

The turtle its eggs on the beach.
Answer: will lay

The cheetah incredibly fast.
Answer: will run

The kangaroo with its powerful hind legs.

Answer: will hop

The whale in the ocean.

Answer: will swim

The snake its prey with its venomous bite.

Answer: will strike

The monkey from branch to branch.

Answer: will swing

The koala on eucalyptus leaves.
Answer: will feed

The crocodile quietly in the water.
Answer: will lurk



